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NEW QUESTION 1

Click the exhibit button.
clusterl::>
igroup show
Vserver Name:
Igroup Name:
Protocol:
05 Type:
Portset Binding
Igroup:
Igroup UUID
ALUA:
Initiators

-vserver VSEXX -igroup esx8

VSESK
esxB
fcp
VIIWare

27das5172-7b8f-11e2-bbf9-123478563412
true

20:00:00:25:b5:01:a0:08 (logged in)
20:00:00:25:b5:01:a0:11 (not logged in)
20:00:00:25:b5:01:20:08 (logged in)
20:00:00:25:b5:01:a0:11 (not logged in)

A customer has an FC SAN with brocade switches. Each server attached to the SAN gas four FC ports. The customer describes that one of their servers has only
four paths to the LUNs configured on the cluster. There should be eight paths on all the other servers. The switch administrator has verified the zone configuration.
Referring to the exhibit, which two actions would you perform to troubleshoot the problem? (Choose two.)

A. Review the LIF configuration on the cluster.

B. Review the driver version on the server.

C. Review that the host side FC link ports are enabled.
D. Review the igroup configuration on the cluster.

Answer: AB

NEW QUESTION 2
Click the exhibit button.
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A customer reports that storage latency has recently increased substantially. No changes have been introduced, and the traffic did not change.

Referring to the output shown in the exhibit, which corrective step should be taken?

A. Add more spindles.
B. Throttle the client traffic.
C. Perform the volume reallocation.

D. Move some volumes off the affected aggregate.

Answer: B

NEW QUESTION 3

Your customer added a new DS2246 shelf to an existing stack on their FAS8060A system. The customer then noticed that the new shelf’s disks appear with the
shelf serial number instead of the shelf ID in the sysconfig -r command output.

What is the reason for this problem?

A. The SAS is cabled incorrectly.
B. There is failed IOM module in the new shelf.
C. The ACP is cabled incorrectly.

D. The new shelf has the same ID as another shelf.

Answer: A

NEW QUESTION 4

A customer performs a takeover and giveback of their controllers and notices that several of their NFS clients lose access to their volumes for a short period of
time during the SFO process. The customer reviewed the LIF failover policies, and the polices are correct.

What is the reason for this behavior?

A. The clients are using NFSv4 to access the volumes.
B. The export policies are incorrect and must be updated with node’s HA partner LIF information.

C. A firewall is blocking the necessary network ports and needs to be updated to allow NFS communication.
D. NFSv4 file locks need to be broken manually before initiating an SFO operation.

Answer: A

NEW QUESTION 5
Click the exhibit button.

cluster0l: :> broadcast-doamin show -bdroadcast-domain Storage

IPspace Broadcast
Mame Domain Name MTU

Port List

cluster(0l-04:a0a—-40
cluster0l1-04:e0M
cluster01-05:a0a-40
cluster0l1-05:e0OM
cluster0l1-06:a0a-40
cluster0l-06:e0OM
cluster01-03:a0a-40
clusterOl-03:e0M

Update
Status Details

complete
complete
complete
complete
complete
complete
complete
complete

A customer notifies you that Active 1Q is showing a warning that a broadcast domain in their environment has been configured with ports from multiple VLANS.
Referring to the exhibit, which two statements are correct? (Choose two.)

A. You should move the eOM ports to a Broadcast Domain that is dedicated to only management traffic.
B. A VLAN tag cannot be assigned to the eOM port, so the configuration is acceptable.
C. You should configure eOM so that is tagged on VLAN 40.

D. You should change the LIF service policy to net-intercluster to prevent the LIFs from failing over to the eOM ports.

Answer: CD

NEW QUESTION 6
Click the exhibit button.
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cluster(l::> job show -id 18 -fields progress

id vserver

progress

18 cluster0l “Cutover Deferred, Waiting for user interventicn(10.30MB Sent)::Volume

A volume move operation has been initiated to move a volume named MirrScr from one aggregate to another. The operation failed with the error that is shown in
the exhibit.
In this scenario, which statement is correct?

A. Manually trigger the cutover process in order to restart the job.

B. The volume move cannot be completed at this time because of high use in this node.
C. There are too many snapshots on the source volume.

D. Cancel and restart the volume move operation.

Answer: A

NEW QUESTION 7

Your customer states that the storage efficiency on their FAS 8200 is far below what they had expected for a VMware NFS datastore. They enabled deduplication
three days ago. The job ran every night for only 10-20 minutes, and the space savings now is less than 5%.

What is causing the space savings to be so low?

A. They have enabled aggregate-level inline data compaction, so the savings are at the aggregate level.
B. They have enabled aggregate-level inline deduplication, so the savings are at the aggregate level.

C. They have not enabled volume-level compression.

D. They have not run a baseline deduplication to scan old data.

Answer: C

NEW QUESTION 8

A customer’'s FAS8200 nodel went down an hour ago after a WAFL inconsistency error. All data is being served from partner node2, but the storage failover
show command output is not showing a hodel as “Waiting for giveback”.

What is the corrective action for this situation?

A. Re-create the root aggregate on nodel.

B. Boot the system and run the wafliron command on the inconsistent data aggregate.

C. From the LOADER prompt, run the wafliron command on the system’s root aggregate.
D. Boot the system and run the WAFL_check command on the inconsistent data aggregate.

Answer: A

NEW QUESTION 9

A customer complains that the copy offload does not work when copying large file from a Windows 8 client between the CIFS shares that are hosted on the same
ONTARP cluster.

What are two reasons for this problem? (Choose two.)

A. Deduplication is not enabled on the destination volume.

B. The client should be using Windows 10 for ODX support.

C. The source and target volumes reside on different cluster nodes.
D. SMB 3.0 disabled on the CIFS SVM.

Answer: AD

NEW QUESTION 10
The root aggregate on your single-node ONTAP cluster failed. You have the configuration backups saved on your FTP server?
In this scenario, which two steps are part of the recovery procedure? (Choose two.)

A. Perform a Netboot using the configuration backup.

B. Create a new aggregate and set its ha_policy option to sfo.

C. Boot into maintenance mode.

D. Create a new root aggregate and set its ha_policy option to cfo.

Answer: CD

NEW QUESTION 10

A customer calls you about a performance issue that they experienced over the past few days. They want to know if data collection and root cause analysis (RCA)
is possible for this issue. This issue appears to be a one time event.

Which tool would be used to satisfy the customer’s request?

A. perfstat

B. perfmon
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C. OneCaollect
D. Performance Archive

Answer: C

NEW QUESTION 15
Click the exhibit button.
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Your customer added a new DS4246 shelf to their FAS system
discover the Medium Impact error shown below.
“Both SAS connections from one controller go to the same shelf.” Referring to the exhibit, which statement is correct?
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. They created an aggregate on the new shelf. Two weeks later, they log in to Active IQ and

A. You are unable to obtain a “Cable Visualization” overview from Active 1Q.
B. A faulty cable is causing the problem.
C. A faulty IOM is causing the problem.

D. You can correct this problem without downtime on the FAS system.

Answer: D

NEW QUESTION 19

Click the exhibit button.
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You have just cabled a new shelf to a FAS8200. Running the system node run -node * sysconfig - a command indicates that multipath HA is configured. However,
after running Config Advisor, you receive an error that your cabling is incorrect.

As indicated in the exhibit, which two actions will correct the cabling? (Choose two.)

A. Move the Ob SAS connection on the bottom controller to 0d on the bottom controller.
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B. Move the Ob SAS connection on the top controller to 0d on the top controller.
C. Move the Ob SAS connection on the top controller to 0d on the bottom controller.
D. Move the Ob SAS connection on the bottom controller to 0d on the top controller.

Answer: AB

NEW QUESTION 24
Which two statements are true about a data volume? (Choose two.)

A. A data volume can be accessed by a LIF on any node.

B. A data volume can be moved to any aggregate with space for it in the cluster.
C. A data volume can be accessed by a user connected to any SVM.

D. An SVM root or root load sharing mirror volume must be present on every node.

Answer: AB

NEW QUESTION 25

A customer has created an interface group (igroup) named a0a, a VLAN named a0a-2500, and a data LIF associated with the VLAN interface that has been
assigned an IP of 10.254.10.100. The customer is able to ping 10.254.10.100 from a Windows client without any issues, but data traffic is not working.

In this scenario, what is the solution to the problem?

A. Disable flow control on the a0Oa interface.

B. Configure an appropriate service policy for the data LIF.

C. Correct the MTU mismatch between the broadcast domain configuration and the upstream network switches.
D. Allow data traffic by using LIF firewall policies.

Answer: D

NEW QUESTION 30

The error message shown below is reported in the EMS log file.

“[sis.changelog.full:warning]: Change logging metafile on volume DATAL is full and can not hold any more
fingerprint entries.”

What are two ways to solve this problem? (Choose two.)

A. Clear the changelog manually so that the operation can restart.

B. Increase the size of the changelog to allow the operation to continue.

C. Modify the storage efficiency policy so that deduplication runs more frequently.
D. Modify the threshold that triggers a deduplication operation.

Answer: BD

NEW QUESTION 31
A customer has requested your assistance with replacing a DS224C disk shelf from their cluster nondisruptively.
Which two actions should be performed before physically replacing the shelf? (Choose two.)

A. Verify that the system is configured as multipath high availability.

B. Upgrade the IOMs in the shelf before starting the removal process.

C. Verify that the drives in the shelves are spares and ownership is removed.
D. Zero the disks before performing the physical shelf removal.

Answer: AC

NEW QUESTION 36
Click the exhibit button.
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clusterl::*> network interface show -vassrver F8 -fields data-proteocol,curr-node, curr-port,is-

home

vaerver 1lif data-protocol curr-ncde

clusterl-01 e0d
clusterl-02 eld

11£01 cifs
1i£02 cif=
ntries wers displayed,

B

clusterl::*> vasrver cifs share show -vserver

Vaerver:

Share:

CIFS Server NetBIOS Name:
Fath:

Share Propertie=:

curr-port is-home

trus
true

F3 -ahare-namea Users

EF3
Users
Fal

/Users
eplecks

browsable
changenctify
show-previsus-varsions
Symlink Properties: aymlinka
File Mode Creation Mask: -
Directory Mode Creation Mask:
Share Comment:
Share ACL:
File Attribute Cache Lifetime:
File Mode Creation Mask:
Directory Mode Creation Mask:
ghare Comment:
Share ACL:
File Attribute Cache Lifetime:
Tolume Name:
Offline Filea:
Tacan File-Operationa Profile: standard
Maximum Tree Connections on Share: 4294967255
UNIX Group for File Create: -

Everyone / Full Control

Everyone / Full Control
Users
manual

clusterl::*> vaerver cifs cptions show -vserver F3

Vearvar: F3
Client Zession Timeocut: 500
Copy Offload Enabled: true
Default Unix Group: -
Default Unix User: pcuser
Guesat Unix User: -
Are Administrators mapped to 'root': true
Is Advanced Sparss File Support Enabled: true
Is Fsctl File Level Trim Enabled: true
Direct-Copy Copy Offload Enabled: true
Export Policies Enabled: false
Grant Unix Group Permissicons to Others: false
Is Advertise DFS Enabled: false
Is Client Duplicate Sessicn Detection Enabled: true
Is Client Version Reporting Enabled: trus
Is DAC Enabled: false
Is Fake Open Support Enabled: true
Is Hide Dot Files Enabled: false
Is Large MTU Enabled: falas
Is Local Auth Enabled: true
Is Local Users and Groups Enabled: true
I= Multichannel Enabled: false
Is NetBIOS over TCP (port 139) Enabled: true
Ia NBMS over UDP (port 137) Enabled: false
Is Referral Enabled: true
SMBl Enabled: false
Max Buffer Size for SMBl Mmssmage: §5533
2MBEZ Epabled: true
SME3 Enabled: true
3ME3l.l Enabled: true
Map Null User to Windows User or Group: -
WINS Servers: -
Report Widelink as Reparse Point Versions: SMB1
Max Credits to Grant: 128

Referring to the exhibit, which change is required to enable the CIFS Autolocation function for the Users share?
A. Edit the CIFS share’s properties to remove the changenotify property.

B. Re-create the LIFs to allow both CIFS and NFS protocols.

C. Change the CIFS share’s Symlink Properties parameter to symlinks.

D. Modify the CIFS server’s option to enable SMB multichannel.

Answer: C

NEW QUESTION 39
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